1035 12

(ii) Identify and explain with examples any two of
the informal fallacies from the following :
(4x2)

feafofas ¥ ¥ sl @t ool = wewfAw @
ARMEW I A Hifer

(a) There is no such thing as knowledge which
cannot be carried into practice, for such
knowledge is really no knowledge at all.
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(b) An elephant is an animal; therefore, a small
elephant is a small elephant.
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(¢) American Indians are disappearing. That
man is an American Indian. Therefore, that
man is disappearing.
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1. Answer any two of the following : (3x2)

el & @ fedl @ & 9w 3

@

(ii)

(iii)

What do you understand by a proposition? What
distinctions hold between a sentence and a
proposition? Explain with examples.

waﬁm%mwmﬁ?wmwm
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What do you understand by Argument,
Explanation and Inference? Explain with
examples.

ﬁ,wﬁm%mwm%'?ﬁam
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What relation holds between the truth/falsity of
propositions and the validity/in validity of an
argument? Explain with examples.
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Use shorter truth table method to determine the
validity/invalidity of the following argument (any
one) : (4)

ﬁﬁﬁfﬁqagﬁaﬁfaﬁﬁam/a%mmwm
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Explain and illustrate any two of the following
informal fallacies : (3%2)

ﬁwﬁﬁaaﬁwﬁmﬁaﬁﬁ%ﬁﬁﬁﬁaﬁ
HeEwr AR R -

(a) Appeal to Inappropriate Authority
€T Ao gia

(b) Converse Accident

RRafda Susemr 2y

(c) Argument from Ignorance

FAA e g
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(ii) Use truth tables to determine whether the

following statement forms are tautologous,

contingent or self-contradictory (any one) :

C))
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2. Answer any two of the following : (3x2)

feafefem ¥ ¥ foedll @ & I 9

(i) What are the principal functions of language?
Discuss in this regard the relation between

language and logic.

WIS @ YEE WEd @ ¥ #7 3@ @ A W T
TEAE D A D Y H e A

(i) What are the different forms of agreement and

disagreement? Explain with examples.

Ty T swely @ AR WER @ e ¥ 87
AreEwr =R S|

(iii) When is a term distributed in a proposition?

Explain with examples.

T 9T fal gearEy ¥ e nd Bar 87 e
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3. (i) Discuss the various relations between
propositions with respect to the Traditional

Square of Opposition. (5)

P.T.O.
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What is *Existential Import’? How does it affect
the Traditional Square of Opposition? What
solutions do Logicians propose to resolve the
problem? Discuss.

IS W w0 ¥7 uRaRe SRRy ®) 9w
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Reduce any four of the following into their
standard forms : (4)

ﬁwﬁﬁWr#%f%#TaRaﬁam%wﬁmammr#
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(a) Roses are fragrant.
e gatua B

(b) Only democrats are socialists.

FIG TEIETE B wEE 2
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7.

m@*gm%ﬁm@ﬁamﬁaﬁﬁmﬁﬂwﬁvﬁ
TR - T

(¢) Ganesh and Aslam will not both attend the
meeting. (G,A)

aﬁ7ﬁmwmamwﬁmhﬁaﬁWHm§§%

(d) Regular exercise is a necessary condition
to remain healthy. (E, H)

Fafts =mm 8 wra @ R e o 2

(e) The college will remain open if and only if
holiday is not declared. (C, H)

ﬁﬁa#mr%muﬁdk@ﬁam%gﬁaﬁﬁwm
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(f) 1t is not the case that you put in sincere
efforts yet you are not given the credit.
(E, C)

a8 ¥ T R B o S ¥ v Y qen
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() Use truth tables to determine the validity/invalidity
of the following arguments (any one) : (4)

.ol g o 8
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(a) Write a short note on advantages of using
symbols.

T & IR @ AW R e ot el
(b) Write a short note on Stroke-function.
Wi - e W aiee ot ffaw)
(c) Define the following into Stroke function :
frafafes =t ®iw W ¥ RN w5
Pva-(r>29

(i) Symbolise the following using the suggested
notation (any four) : 4)

RY Y s o AN WY gy PR @ e
¥ PRy (@ =w)

(a) Either you run, or you will miss the train
and waste one entire day. (R, T, W)

o g A, A TR G YT WA A GH
e = B s

(b) Sam will dance only if Nick sings and Zafar
plays the key-board. (S, N, Z)

1035 5

(c) Few horses are white.
FT A O e B
(d) Not every police officer is honest.
E Yo - A e T8 2
(e) Terrorists are never compassionate.
FaFaE F N FemE T8 B 2
(f) Mostly teachers are hard workers.

e g a2 2

4, (i) Do the following as directed :
fre=fofaa &1 Feoger 3w fafae
(a) All soldiers are patriots. (Conversion) (1)
o FF w-wew 7 (i)

(b) Some students are sportspersons
(Obversion) (D)

%o R Reerd 31 (sfe)
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(¢) No sinners are ethical. (Contraposition)
(3)
FHE T A T ¥ (vfeRad)

If “All mathematicians are logicians” is true,
then determine the truth or falsity of the
following propositions : (3x2)

uﬁ“ﬁvﬁaammﬁ”w%,a}ﬁwﬁﬁaa
F AAA T I Wi R -

(a) Some non-logicians are not non-
mathematicians.

O H-THAER T S ¥
(b) No non-logicians are mathematicians.

FE - THAER o TS

Reduce the following syllogism into standard
form and test its validity/invalidity using syllogistic
rules (any one): (6)

ﬁﬂ%ﬁaawmﬁaaﬁmm#ﬁfﬁaqw

aﬁ%um/aﬁuma&w&mamgﬁa%ﬁvﬁf%
TR FIfoRA (e uer) :
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(a) Some dictators are ruthless, for all dictators
are art-lovers and some art- lovers are

ruthless.

XS e B F, wiR e e - 3
2 3R wo - el 2

(b) Only emotional persons are music-lovers,
since all music-lovers are writers and some
writers are emotional persons.

R s i <ol - 3 2 s i i 3
X ¥ iR wo aw wgw e ¥

(i) Test the validity/invalidity of the following by

Venn diagram (any one) : 4)
Frfeiea ot dumn/ofdvmr 2 wder 3 AFfy gm
i (= o) -
(a) TIAI-III
(b) AAI-I
6. () Answer any one of the following : (3)

%ﬁ%ﬁﬁ%%ﬁwmwﬁm:
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